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/sech(:c) dx = |2 arctan(e”)

/ 1T l(jg(l ey dx = |log(log(1 + €"))

/(1+x+x2+x3+x4)(1—x+x2—x3+x4)dx: x+%+%+%+x_
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(z + sin(z))?

6] /(x + sin(x) 4+ x cos(x) + sin(z) cos(x)) dx = 5

/ (sin®*(z) + cos®(z) + tan®(z) + cot®(z) + sec*(z) + csc?(xz)) dx = |2tan(z) — 2 cot(z) — x

/0 12023 sin(2)) de =[]

@ /(210gx + l)e(logf"’)2 dr = | zellos®)’

/ (1— 2P+ (e — 2P + (2 — 1) = 3(1 - 2)(z — 2?)(a — 1)) da =[0]
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/(sin6 z + cos® x + 3sin’ z cos® z) dx =

/(x+e+1>xee“dx=

1 2 2022 1
/WL—de _ log (22022 + 74044)
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/ (3sin(20x) cos(23x) 4 20sin(43z)) dx =|sin(20z) sin(23x)
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2e% + cosx + sinx 2

/ sin P log(2¢” + cosz + sinx)

/(log(x/w) dp — x

log x)log(we) o (10g x)logTr
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/ (x5+5x4+10x3+8x2+x)dx:
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